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s
Bop WX FH - 77 (1) - - - 100.0 - - - -1100.0 3.00
Ui 7|9t 7] %315} 55} (23) - - - -l 6.3 93.7/100.0 -1100.0| 4.94
7] E} (3) - - - -1 100.0 -1100.0 -1100.0| 4.00
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< glE=d A" A
A Al (94) 77| 112 190 521 215 50 265 24 100.0 3.05
9 s (2 ) (44) -1 179 179 397 358 6.5 424 -1100.0| 3.31
3
o st A (50)| 145 53 199 630 89 3.6 125| 46 1000 281
&5 = 2 (45)| 8.0| 57 137 573 199 4.0 239 51 100.0| 3.06
2 A
H] == = A (49) 75| 163 238 473 230 59| 289 -1100.0| 3.04
5 LS 2 (28) 36| 52 87 722 139 52 191 -1 1000 3.12
= L3 Bl 2t (24) 112 103 215| 646 42 - 42 9.6/100.0| 2.68
Ok Uk HolQe- 97w (16) - 17.0| 17.0| 455 284 91 376 -1100.0| 3.30
A
Hof L5 | I 1) -1100.0| 100.0 - - - - -1100.0| 2.00
Wi 7|8t 7] 235} st (23)| 15.9| 113 272 282| 36.7| 7.9 446 -1100.0 3.09
7] E} (3) - - - -1 100.0 -1 100.0 -1100.0| 4.00
E 43. 83} 7212 74 HIZ 3. Ot J1g &5
(T2 : 7, %, &/53)
©) ® &) ®
e | E= ® @ ozt He =3
EL P | B
TF FIT wz oz @ wg ouwz ag OO geg A ¥
= =" A" U
A Al (94) 19| 50 69 397 381 129| 509 24 100.0| 3.56
o s ( oz ) (44) -| 65 65 459 443 33| 475 -1 1000 344
3
o s} A (50)| 3.6/ 36 72 343 326 213 539 46 100.0| 3.68
= T 4 (45)| 4.0 40 80 37.5| 495 -/ 495 51/100.0| 3.39
2R
H] == = A (49) -l 59 59 418 276 247 523 -1 1000 3.71
5 i £ 2 (28) - 52 52 541 311 96 407 -1100.0| 3.45
S L3 Bl 2t (24) - - -| 50.4 287 11.2| 399 9.6 100.0| 3.57
4 i Hole-9g (16) - - - 164 575 26.1 836 -1100.0 4.10
A
Bop | M k= A H 7T (1) - - -1100.0 - - - -1 100.0  3.00
Ui 7|t 7] 35} 3-5f (23) 7.9 143 222 278 383 11.8| 50.0 -1100.0| 3.32
7] E} (3) - - - -1 100.0 -1 100.0 -1100.0| 4.00
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3
o s o (50)| 7.2/ 53 125 82 503 29.0 793 -1 100.0 3.89
2 = a (45)| 8.0 57 137 377 261 225 486 -1100.0| 3.49
A2 ]
H] = = a (49) -| 84 84 196 464 256 720 -1 100.0 3.89
=) L N A (28) -| 147 147 299 459 96| 554 -1100.0 3.50
=) L = 2} (24) - - -| 287 321 392| 713 -1100.0| 4.10
Ok Uk Hole. o= (16) - - -1 309 454 23.7 69.1 -1 100.0 3.93
A
Hof L R I | (1) - - - - -1100.0| 100.0 -1 100.0 5.00
7|8t 7] 238 g5t (23)| 15.9| 113 272 17.7| 307 244 551 -1100.0| 3.36
7] E} (3) - - -1100.0 - - - -1100.0| 3.00
H 4-5. 33} 7212 74 HIZ 5. OfSHE2Y Al LX)
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04 st (X ) (44) 33| 208 241 361 343 55| 398 -1 100.0 3.18
3
o s o (50)| 3.6/ 99 135 395 234 19.00 425 4.6 100.0| 3.47
2 = a (45)| 4.0 222 262 314 199 175| 373 51 1000 3.26
A2 ]
H] =S = a (49) 29| 84 113 439 364 84| 448 -1 100.0 3.39
5 i £ b (28) 5.2 188 240 51.0| 250 - 250 -1 100.0 2.96
=) L =] 2} (24) - - -| 297 276 33.1| 607 9.6 100.0| 4.04
Ok Uk HolQe-9=gm (16) - 145 145| 431 424 - 424 -1100.0| 3.28
A
Hof L= S S I (1) -1100.0| 100.0 - - - - -1 100.0 2.00
i 7|8t 7] 238 g5t (23)| 7.9 227 306 222| 291 181 472 -1100.0| 3.27
7] E} (3) - - -1100.0 - - - -1100.0| 3.00
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9 g ( = ) (44) 33| 228 260 674 65 - 65 - 100.0 277
3
o el o (50) 26.0| 18.1| 441 460 53 - 53 46 100.0 232
T = A (45) 17.1| 27.8 449 50.0 - - - 51,1000 235
2 A
H] == =3 4 (49) 13.8| 134 272 615 113 - 113 - 100.0 270
25 ES 2 (28) 9.6 327 423 577 - - - - 100.0 248
185 L Zal 2} (24) 76| 42 118 613 173 - 173 9.6 100.0 2.98
Gk Uk Hole. o= (16) | 26.1| 29.1| 552 | 44.8 - - - -1100.0| 2.19
S
Hof L0 S | A I (1) - - -1 100.0 - - - -1100.0| 3.00
Ui 7|Eh 7] 238} 2t (23) 259| 193 452 484 6.3 - 63 - 100.0 2.35
7] Ef (3) - - -1100.0 - - - - 100.0 3.00
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9 g ( = ) (44) -l 33 33| 156| 518 293 81.1 - 100.0 4.07
SIas
o k) o (50) 36| 82| 118 53 368 415 783 4.6 1000 4.09
2 = 4 (45) 40| 91| 131 57 319| 442 761 51 1000 4.09
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H] == =3 4 (49) -l 29 29| 142 548 281 828 - 100.0 4.08
25 S ES A (28) - - - 147 817| 36 853 - 100.0 3.89
25 'S =l 2t (24) - - - - 512 39.2| 904 9.6 100.0 4.43
Gk Gl Hole- R (16) -| 145 145 91 309 454 763 - 100.0 4.07
S
Hof 15 | (1) -1 100.0 | 100.0 - - - - - 100.0 2.00
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7] E} (3) - - -1100.0 - - - -1100.0| 3.00

11



S -1 o o
B ol 23 U 2%

ral
ol
n

EHRA}

B 4-8. st} 2|2 /¢ HIS_8. 7[E}

(&1 2 2, %, &/58)

@) @) (@) ®
q9  dEH= ® g "% BE
H A2~ ]ﬂ-ﬂ-
i . T az wz @0 wg wz ag @O g A F
= =" Y=" | A=
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2 A
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15} e A (28) 90.8| 92 - - - - - - -1100.0
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2 A
H] 2 = A (49) 19.7 163 50 59 142 168 84 138 -1100.0
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AR A]
H] 5 k= A (49) 941, 389 36.0 197 511 272 134 168 2.9
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3
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&= = a (45) 46.1 39.3 404 33.6 17.0 33.4
A A]
H] = = A (49) 64.5 58.2 56.5 452 31.0 7.5
B s LS 2 (28) 81.7 51.8 82.0 42.3 33.0 3.6
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e
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s
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